

DIGITAL ENGINEERING & IMAGING, INC.

July 7, 2022

Mr. Jon McCraw Interim City Manager City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Re: Engineering Master Services Agreement (2021)

Work Assignment No. 1 GIS Maintenance

DE Invoice No.: 730-1001-15

Dear Mr. McCraw:

Attached please find Invoice No. 15 for professional services on the above referenced project in the amount of \$1,160.00 in accordance with our agreement.

Should you have questions or need additional information, please contact our office.

Sincerely,

DIGITAL ENGINEERING

L. Bruce Newton, P.E., M.B.A. Executive Vice-President

LBN/chc

cc: Mr. Robert J. Delaune

Enclosures

Digital Engineering 527 W. Esplanade Avenue, Suite 200 Kenner, Louisiana 70065

July 7, 2022

Project No:

B7301001.000

Invoice No:

15

Jon McCraw City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Totals

Project B7301001.000 City of Diamondhead Master Services Agreement 2021 Professional Services from May 29, 2022 to July 2, 2022								
Phase	001	GIS Maintenance						
Professional Pe	ersonnel							
			Hours	Rate	Amount			
Shurley	, Christina		8.00	145.00	1,160.00			
•	Totals		8.00		1,160.00			
	Total La	bor				1,160.00		
				Total this Phase		\$1,160.00		
Billings to Date								
		Current	Prior	Total				
Labor		1,160.00	9,877.50	11,037.50				

9,877.50

1,160.00

Total this Invoice

11,037.50

\$1,160.00

Project	B7301001.000	Diamondhead Maste	r Services Agr	eement 21	Invoice	15
Billin	g Backup				Thursday	, July 7, 2022
	ngineering & Imaging, Inc.	ln	voice 15 Dated	7/7/2022		12:55:08 PM
Project	B7301001.000	City of Diamon	dhead Master	Services Agree	ment 2021	
Phase	001	GIS Maintenance				
Profession	onal Personnel					
			Hours	Rate	Amount	
0121	35 - Shurley, Christina	5/31/2022	2.00	145.00	290.00	
0121	35 - Shurley, Christina	6/1/2022	2.00	145.00	290.00	
0121	35 - Shurley, Christina	6/2/2022	2.50	145.00	362.50	
0121	35 - Shurley, Christina	6/6/2022	1.50	145.00	217.50	
	Totals		8.00		1,160.00	
	Total Labor					1,160.00
				Total this	s Phase	\$1,160.00
				Total this	Project	\$1,160.00
				Total this	Report	\$1,160.00



DIGITAL ENGINEERING & IMAGING, INC.

July 7, 2022

Mr. Jon McCraw Interim City Manager City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Re: Engineering Master Services Agreement (2021)

Work Assignment No. 4 Roadway Improvements Phase 4

DE Invoice No.: 730-1001-16

Dear Mr. Reso:

Attached please find Invoice No. 16 for professional services on the above referenced project in the amount of \$3,187.50 in accordance with our agreement.

Should you have questions or need additional information, please contact our office.

Sincerely,

DIGITAL ENGINEERING

L. Bruce Newton, P.E., M.B.A. Executive Vice-President

LBN/chc

cc: Mr. Robert J. Delaune

Enclosures

Digital Engineering 527 W. Esplanade Avenue, Suite 200 Kenner, Louisiana 70065 July 7, 2022

Project No:

B7301001.000

Invoice No:

16

Jon McCraw City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Project

B7301001.000

City of Diamondhead Master Services Agreement 2021

Project	B7301001.000	City of Dia	mondhead	Master S	ervices Agreem	ent 2021		
Professional Serv	ices from May	29. 2022 to July 2. 2	022					_
Phase	004	Roadway Improvements Phase 4						
Task	30	Bidding						
Fee								
Billing Phase		F	ee C	Percent complete	Earned	Previous Fee Billing	Current Fee Billing	
Bidding		6,375.	.00	100.00	6,375.00	3,187.50	3,187.50	
Total Fee		6,375	.00		6,375.00	3,187.50	3,187.50	
Total Fee				3,187.50				
					Total this	\$3,187.50		
					Total this l	\$3,187.50		
Billings to Date								
		Current	Pr	ior	Total			
Fee		3,187.50	44,687	.50	47,875.00			
Totals		3,187.50	44,687	.50	47,875.00			
					Total this Ir	nvoice	\$3,187.50	



DIGITAL ENGINEERING & IMAGING, INC.

July 7, 2022

Mr. Jon McCraw Interim City Manager City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Re: Engineering Master Services Agreement (2021)

Work Assignment No. 3 Beaux Vue Ph. 2 Drainage Improvements

DE Invoice No.: 730-1001-17

Dear Mr. Reso:

Attached please find Invoice No. 17 for professional services on the above referenced project in the amount of \$1,917.50 in accordance with our agreement.

Should you have questions or need additional information, please contact our office.

Sincerely,

DIGITAL ENGINEERING

J. Brue Neutr

L. Bruce Newton, P.E., M.B.A.

Executive Vice-President

LBN/chc

cc: Mr. Robert J. Delaune

Enclosures

Digital Engineering 527 W. Esplanade Avenue, Suite 200 Kenner, Louisiana 70065 July 7, 2022

Project No:

B7301001.000

Invoice No:

17

Michael Reso City of Diamondhead 5300 Diamondhead Circle Diamondhead, MS 39525

Diamonuneau, MS	39323					
Project Professional Service	B7301001.000	City of Diamor 9. 2022 to July 2. 2022	ndhead Master Se	ervices Agreem	ent 2021	
Phase	003	Beaux Vue Ph. 2 Drair				
Task Fee	05	Topo Survey				
Billing Phase		Fee	Percent Complete	Earned	Previous Fee Billing	Current Fee Billing
Topo Survey Total Fee		4,345.00 4,345.00	100.00	4,345.00 4,345.00	2,500.00 2,500.00	1,845.00 1,845.00
		Tot	tal Fee			1,845.00
				Total this	Task	\$1,845.00
Task	20	Design				
Professional Perso	onnel					
			Hours	Rate	Amount	
Stein, John	1		.50	145.00	72.50	
	Totals		.50		72.50	
	Total Labor					72.50
				Total this	s Task	\$72.50
				Total this	Phase	\$1,917.50
Billings to Date						
		Current	Prior	Total		
Fee		1,845.00	2,500.00	4,345.00		
Labor		72.50	6,453.75	6,526.25		
Totals		1,917.50	8,953.75	10,871.25		
				Total this in	nvoice	\$1,917.50

Project	B7301001.000	Diamondhead Mast	er Services Agre	eement 21	Invoice	17			
Billing	g Backup				Thursday,	July 7, 2022			
	gineering & Imaging, Inc.	Îr	nvoice 17 Dated	7/7/2022	-	2:51:16 PM			
Project	B7301001.000	City of Diamo	ndhead Master	Services Agreer	ment 2021				
Phase	003	Beaux Vue Ph. 2 Drai	eaux Vue Ph. 2 Drainage Improvements						
Task	20	Design							
Professio	nal Personnel								
			Hours	Rate	Amount				
0111	35 - Stein, John	5/18/2022	.50	145.00	72.50				
	Totals Total Labor		.50		72.50	72.50			
				Total th	is Task	\$72.50			
				Total this	Phase	\$72.50			
				Total this	Project	\$72.50			
				Total this	Report	\$72.50			